Some tips for translating English statements into predicate and categorical logic:

1. It’s cold whenever it snows.

= Whenever it snows, it’s cold.
(scheme of abbreviation: Sx: x is a time when it snows; Cx: x is a time when it’s cold.)

= All times when it snows are times when it’s cold.
= (x)(Sx ( Cx)
(Statements including such words as “whenever,” wherever”, “whatever,” “whoever,” etc. are translated analogously, with the subject term, i.e., the antecedent of the conditional, immediately following the “wh…ever” expression in the English statement.)

2. The following five kinds of propositions (a-e) are translated as universal affirmatives:

a. Only the brave will receive a medal.

= Someone will receive a medal only if s/he is brave.

= (x)(Mx ( Bx)

= All persons who will receive a medal are brave persons
b. Comets are the only heavenly bodies with tails.

(or: The only heavenly bodies with tails are comets):

= Something is a heavenly body with a tail only if it’s a comet.

= (x)(Tx ( Cx)

= All heavenly bodies with tails are comets.
c. None but the brave will receive a medal.

= Someone will receive a medal only if s/he is brave.

= (x)(Mx ( Bx)

= All persons who will receive a medal are brave persons.

d. No one will receive a medal unless they’re brave.

= Someone won’t receive a medal unless s/he’s brave.

= (x)((Mx ( Bx)

= (by material implication) (x)(((Mx ( Bx)

= (by double negation) (x)(Mx ( Bx)

= Someone will receive a medal only if s/he’s brave.

= All persons who will receive a medal are persons who are brave.

e. She never misses class unless she’s ill:

= Something isn’t a time when she misses class unless it’s a time when she’s ill

= (x)((Mx ( Ix)

= (by material implication) (x)(((Mx ( Ix)

= (by double negation) (x)(Mx ( Ix)

= All times when she misses class are times when she’s ill.

3. She always comes to class unless she’s ill.
(scheme of abbreviation: Cx: x is a time when she comes to class; Ix: x is a time when she’s ill.)
= (x)(Cx ( Ix)
= (by material implication) (x)((Cx ( Ix)

= All times when she doesn’t come to class are times when she’s ill.
(The Venn diagram for this proposition shades the whole region outside the two circles, since it says that everything outside C is an I, but doesn’t say anything about what is a C.)
4. All except the rich struggle to survive.

or

All but the rich struggle to survive.

= Someone struggles to survive if and only if s/he’s not rich.

= (x)((Rx ( Sx)

= (x)[((Rx ( Sx) ( (Sx ( (Rx)]

= (x)((Rx ( Sx) ( (x)(Sx ( (Rx)

= All persons who are not rich are persons who struggle to survive, and all persons who struggle to survive are not rich.

(The Venn diagram for this proposition shades both the whole region outside the two circles (corresponding to the first conjunct, (x)((Rx ( Sx), as in example 3a); and the region in which both circles overlap (corresponding to the second conjunct, (x)(Sx ( (Rx), which is a standard universal negative).
